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Directions (106-110): In the following questions
some of the sentences have errors and some have
none. Find out which part of a sentence has an error.



If there is no error, your answer is (4) i.e. No error.

106) The Principal and staff (1)/are awaiting for (2) / the
chief guest. (3) / No error (4).

107)He thinks (1) / himself (2) / as a great scholar. (3) /
No error (4)

108)Unless (1) / you will study hard (2) / you cannot pass.
(3) No error (4)

109)! like (1) the poetries (2) / of Byron and Shelley. (3) /
No error (4)

110)On last Sunday (1) / | met my friend (2) / accidentlly.
(3) / No error (4)

Directions (111-115) : In the following questions,
sentences are given with blanks to be filled in with
and appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative out the four.

111)You may bring your dog where
1) You have to pay
2) there is no water
3) pets are allowed
4) pets can sleep

112)The chef was wondering
1) when to brush his teeth
2) what to prepate for the important dinner.
3) how to wash the dishes
4) when to take the dog for a walk

113)1 have brought some books you to examine.
1) to 2) for

3) with 4) over

114)The speaker did not properly space out his speech,

but went on one point only.
1) stressing 2) avoiding
3) devoting 4) decrying

115)The usher showed us
1) how to take photographs
2) where to sit
3) when to comb our hair
4) how to dance

Directions (116-120) : In the following questions, out
of the four alternatives, choose the one which best
express the meaning of the given word.

116)Autocratic
1) Cooperative
3) Inspirational

2) Dictatorial
4) Charitable

117)Daring
1) Brilliant 2) Energetic
3) Enthusiastic 4) Courageous
118)Demonstrate
1) Remonstrate 2) Show
3) Witness 4) Complain

119)Delibrate
1) Purposeless
3) Intentional

2) Perpetrate
4) Intervention

120)Defer
1) Postpone 2) Different
3) Accept 4) Disagree

Directions (121-125) : In the following questions,
choose the word opposite in meaning to the given

word.
121)Abundance

1) Scanty 2) Tiny

3) Scarcity 4) Deficient
122)Unanimity

1) Amity 2) Enmity

3) Diasgreement 4) Dissatisfaction

123)Vice

1) Fame 2) Virtue

3) Fortune 4) Fate
124)Renowned

1) Famous 2) Owned

3) Unowned 4) Unknown
125)Provoke

1) Soothe 2) Incite

3) Smoothen 4) Entice

Directions (126-130) : In the following questions,
four alternatives are given for the idiom/phrase,
printed in bold in the sentence. Choose the alterna-
tive which best expresses the meaning of the Idiom/
phrase

126)Tagore was a man of letters
1) of wide contacts
2) an excellent letter dictator
3) a great writer of letters
4) proficient in literary art

127)His friends beat the boy to pay off old scores.
1) to refund old dues
2) to take revenge
3) to force him to be a scorer in a match
4) because he had not scored well earlier

128)Chintan is so inncent that he wears his heart on his
sleeve.
1) Wears dress that does not match
2) expresses his feelings openly
3) Wears colourful dresses
4) Expresses his feelings with the shape of a heart
printed on its sleeve.



129)1t was a red letter day in the history of the world.
1) a day with bloodshed
2) a dangerous note about the destruction
3) a day memorable for some joyful event.
4) a day with love and warmth.

130)The poor subordinates are made scapegoats by
their superiors.
1) punished for other misdeeds
2) developed poor relations
3) treated humbly and respectfully
4) scolded with arrogant reaction

131)55, 60, 45 Sood awvegégw:é& batches 3 diéx
Srdnen S8 50, 55, 60. ©oid 3)@563@ Tl
SeEnen
1) 53.33
3) 55

2) 54.68
4) none of these

132)e.8 =&® 16 £od erend Hifen 8 50.25 Kgs,
DADS 8 Hood erend Bifew 2% 45.15kgs TSt
©oKB0LELY Jiftn 28D :
1) 47.55 kgs
3) 48.55 kgs

2) 48 kgs
4) 49.25 kgs

133)e.8 o8 &St aetd $85 Sones® JEfen
%% Rs. 7, Rs. 7,50, Rs. 8.50 s S,
o8 (B8 Bon Rs. 4000 o 2SS o, et
$o58 Ecen 8
1) Rs. 7.98
3) Rs. 8.50

2)Rs. 8
4)Rs. 9

134)6 Sogge $T%0 X ; BS® Lardod $ouko y; Mifee
JoH0 7, ©OoNS :
x=y+z
3)x=2y+2z

2)2x=y+z
4) None of these

135)9 &obs® 8 Hod HHes o Rs. 80 Fus 80d8
B S, 95 58, Swgo 9 Hod DEI iy Ko,
Rs. 20 J%)5 38y ':bé:;cﬁ:. ®ol8r 0% 3;@26 PO :
1) Rs. 260
2) Rs. 290
3) Rs. 292.50
4) Rs. 400.50

136)30t o808 &od o¥ ‘éoa:sés&) ©o8en BTBIFE
315_\3 SIS 8 Jogg, S Loggw I Tt

‘céospé :
1)3 2)5
3)9 4) 11

137)30th ®osen o .8 éos%és&) ©o8w Ingiw, @
Qdogg go& 9 S5, 8ooTdS® 28 @ Boggd a8y

3(;:6&: :
1)1 2)2
3)4 4) Data inadeugate

138)80td @oSwiie a8 Dogy, TS0 o8 3355"@26:
2ot INbtet) 3?_\3 53‘3 dogge BESn 36. & éozp;ésg)
Botd ©ose P :

1)3 2) 4
3)9

4) Cannot be determined

5) None of these

139)398, Toswd K08 4 Bon DY) 0 HBJ Scoboen 7 :
9 ™ 808, 39T Schd Jod?
1) 16 years
2) 18 years
3) 28 years
4) Cannot be determined
5) None of these

140)P, Q & ({8 Schdoen 6: 7 P Eo& Q 4 Jon g ;
4 Jon EBrE T8 Schde AP 0¥ ?
1)3:4
2)3:5
3)4:3
4) Data inadequate
5) None of these

141)P, Q © (B8 Sohdoen SLdme 5@ 7. Q (s
S5, 6 Do Shard P Schdod, e FEce 2
®owd, P, Qo [Hhd Scohdhe oo Jod?

1) 48 years

2) 52 years

3) 56 years

4) Cannot be determined
5) None of these

142)066, &350 a® $a%d 4 : 3. 6 Jon E&HTE ,
OGHE Schd 26 Jon oHHod. &8 (B Sohd
Q08?

1) 12 years
2) 15 years
3) 19% years
4) 21 years

143)(17)%5 x (17)7 = 178

1) 2.29 2)275  3)4.25 4) 45

144)2.8 IYSS® agfds waee FEI™, 68 Ly &00h
SPonaron, RO @aﬁggg 52% &.én HE™, 08
D08 98 Lin. Iwgo DoowS Ln Dogy :

1) 2382 2) 2450
3) 2518 4) none of these

145)5% othe i 20nS a8 PSS 10% Hobd
L808) Lutn SoHS. Deoawnd LS5 10% BeSk.
39S 608 54% Ly DU BODS @08 w0
1620 &én. L8 ORE® SIrtond &g Sogy :

1) 25000 2) 33000
3) 35000 4) 40000



146)3ndo Lo o088 &F) T08° 8% Hod 18, 21 one
oy ST, PSS wgE &F) 18, 21 Sone
oty B 8088’ 85% Hood L@ Len I,
o w¥E &) Ly, D Jo T ?
1) 4.2 2) 6.4 3)6.8 4)8

147)e8 dNES® 30% .68 o0 AS e Aobre,
2ADE TOS® 60% Hood wgos B B Len I
oS WADITE LtnBchB. A B LenTVET08,
b F6HI 08 T 1200, wowd NS
QoE0kS &tn FE) aHB?
1) 10,000 2) 45,000
3) 60,000 4) 72,000

148)cdesdrd acgéa Tailors X, Y ©% o8 el Iedo
8.550 e BQoirdd. Y & ad Kay) o8, X B
Q8o 120% S)5eons, T8 Y 8 adle.
1) Rs. 200 2) Rs. 250
3) Rs. 300 4) None of these

149)eeo B, 10 THPS Q) ©8 ‘éospegé Lezdo B, 8
THPS oranges R Kedo . 11 TPHpS A
o a8 &r. 120 ogo Hlomth. Iwdo oSk
Q) oranges éospag :
1) 30 dozens
3) 50 dozens

2) 40 dozens
4) 60 dozens

150)e8 250 8. 1 & 6 SRS toffees S0 20%
orgo ToEEER8 1 Grarand Y TEPS e@inss?
1)3 2)4 3)5 4)6

151)8rarowd 12 toffees SFPEPS odysody astd 20%
SEDro. 20% oo THBICE wS Erarond
A Do wisB?
1)5 2) 8

3) 10 4) 15

152)8. 20per kg &8) 26 kgo DAy, kg &r. 36 &)
oo 880 30 kg o8 K0, & MBS DT &
30 per kg o8 w8 cFTEo:

2) 5%

4) 10%

1) No profit, no loss
3) 8%
6) None of these

153)6. 11.50 per kg Sews® 30 kg FEoskedo, . 14.25
per kg Send® 20 kg Fsnd 50D & DFSPQ
30% P8 ©LnsSkos kg & Hodrd Tew ?

1) Rs. 14.80 2) Rs. 15.40
3) Rs. 15.60 4) Rs. 16.30
6) Rs. 18.20

154)kg 8@. 17.50 Ho&d 30 kg e, H6°650 300 Hahge
o8 Bens® £, & Both B¥o Dolrge EIrQ .
18.60 per kg S0 o8 padam % 20% Ingo
&8 eDoDod. Bo&'Eo 30 kg © ko BF) kg
Bew ?
1) Rs. 12.50
2) Rs. 13.50
3) Rs. 14.50
4) Rs. 15.50
6) None of these

155)kg & &w. 50, &r. 20 5H8%» &r. 30 pbsS) 3 Ssro
Bdtircdhotn 2 41 3 abhPo 3HBS° 50, ©
DFEeY kg e, 33 FHpS 0, 08D FTEo?
1) 8% 2) 9%
3) 10% 4) None of these

156)6 : 7 D3RS Toth Sore H0 D G FeY
Soggd 82T ) Y 161 21 LoB S
ol
1)2 2)3

3)4 46

157)7 : 2, 7 : 11 JHEeod® S&dm aomrdo, 5250
EORE A, B o8 M ifen ammom. HErE
o8P0S HBY EHY 50D LoAcST Y W|Edo
C &* womrdo, %6 DY :

1)5:7 2)5:9
3)7:5 4)9:5

158) 808 dpHeos® D& Hodis
1)7:15 2)15:23
3)17:25 4)21:29

159)4 : 3 YPBS® o FHS A, B 0 Dodte B e
Er. 4800 ©ond Fndo Py
1) Rs. 11,200 2) Rs. 6400
3) Rs. 19,200 4) Rs. 39,200

160)B 508 A % &r. 7 %), C Eo& &r. 8 B & Qgm
SHeotn &r. 53 IweR) A, B,C o Do, a0

Fero AYS :
1)16:9:18 2)25:18:10
3)18:25:10 4)15:8:30

161)5n% acheo A, B,C 935 8085 : A -7 Sriro
Fen 10 Lo, B -5 Erdren 12 i, C -3
Sraren 15 A DIFTTH. Rs.175, S8
b o038 C e dod?
1) Rs. 45 2) Rs. 50
3) Rs. 55 4) Rs. 60

162)5‘233'*(5068 wﬁﬁjs:é:egoés A, C':bé;éea& 2: 1, ™, A,
B,» '::e;awa:& 3: 2 éé&&. Rs. 1,57,300
oPos® B aoer :
1) Rs. 24,200
3) Rs. 48,400

2) Rs. 36,300
4) Rs. 72,600



163)asind garses® 3: 5 3G A, B e Degwd s’
TS0 (oo, B epads SSrdore
2epwds® 6 Ive S C gs® Tortd. 1 Son
DBE SO orgrQ) T HoHETR IR
1)3:5:2 2)3:5:5
3)6:10:5
4) Data inadequate
5) None of these

164) 5 g L DRBSA BC e igutg
IS TR0 (PEofoirdh. 2 Srare
Ehad ASS Sreddo difo eHdor00Hst e 10
Srre Ehard SIS IJwdo orgo Rs. 378 %

éoiﬁ;?@&. B ao¢w :

1) Rs. 129 2) Rs. 144
3) Rs. 156 4) Rs. 168
7 4 A -, -,
165)4- 15 o WS Deged G A BCe

FRHRoeem Do, 4 Iven S A &S
Soreldos® 50%. Dok 1 Jod&Bo AR SIS
orgo Rs. 21,600, B swér :
1)16:9:18
3)18:25:10

2)25:18:10
4)15:8:30

166)UNIVERSAL o3 555088 oforen ofssre
B0 08, 'Y 008 wrrdor (H8 ©EoeR8 Tl
3;26 Soggs a'(s_op R, P ﬁsmo Sogy So S
ANB?
1) 19
3)21

2) 17
4) 20

167) 2.8 S8 H=oddn 67894 % HDFCK e 1235 % RSNL
R, 308 FCNHR & S&m (@oars

1) 35487 2) 89361
3) 89631 4) 98613
168) Z = 52, ACT = 48 wowd, BAT =7
1) 39 2) 41 3) 44 4) 46

169) &8 &&&® HANGER & TDIMCG e (5, o8 $°&&f
KURESH & 2@ (o %?
1) JRGQWJ 2) LVSFTI
3) MSTGUJ 4) Db

170) In a certain code ‘go for morning walk’ is written as
$%?# ,* good for health’ iswritten as‘£? @' and , ‘good
towalk fast’ iswritten as‘+@r #. What is the code for
‘# health’?
1) £ 2)? 3) # 4) +

171) 5% Hodn 0, Hodnd 6D o, DD 3w o,
B oEHY, odind YD, S oBHDE)
©, BHHHNH MO O ©oll, Fo Twd) Sord Q?
1) m® 2) e85
3) Bend 4) e85

172) 5°%89) : %08 1 89y : ?

1) é@@eﬁ@éa’o 2) Trow
3) &9 (chisd) 4) QS
173) AZBY : CXDW : : EVFU : ?
1) GTHS 2) GHTS
3) GSTH 4) TGSH
174) 1) sweon 2) =865
3) 20rrEtHos 4) @
175) 1) DCFG 2) FEHI
3) JLM 4) HGIK
176)1) 27 2) 64
3) 125 4) 144
177) 2, 15, 41, 80, (?)
1)111  2)120 3)121  4)132
178)Z, U, Q, 2, L
1) 2) N )M 4) K
179)def _f_hfg i_
1) egggh 2) ghgeg
3) ehggy 4) geghg
180) [al6 318\ [6hdslan [4]s]2]A2\
(1) 8 (212 (316 (4) 20

181) & (800 [EHo5ns® B RBogy SGaE $9), Jwoth $O Bogys
IN) Do Y od?

234, 534, 524, 523, 523, 423, 453, 452, 551,
545, 54
1)4 2) 3 3) 2
4) 1

182) IfA=16,C=8D=3,andB=9thenC+AxB?2
D=?
)27  2)46  3)72 4) 56

183) a8 a0 $5 Sol@R Ihddr, ErEntiy™ 90 . 39),
HEIHS 80A 20 . Igyd. FBoTE HEJHH 80, 30
£. 3PS SHard, S5 S agy Iod. ©HA Dol &¥Y
QM 1K, &5 adhoddd ($FILw $od
DoErEsns® 85 Bo|8Q EOvTE ?

1) 80 & 2) 100 &.
3) 140 . 4) 260 .

184) &%2r8 8o 25 . 38D, ALFH 88A 20 K. SEIT.
Eooaed AEHFH 88A 25 . ST, Shard HAZTHH
800 15 . B8DT. S 2dHeddd Hodn ol
Qodrssnst, & a¥et axmis ?

1) 35 &. &rdyye 2) egdore 35 .
3) &rdyye 40 . 4) &Gy 60 .

185) HoTolEss HBBaHEw Ve $HS v woird “GR
Qe D38 WEHA IBE Dbepd grds” Dol $o0ak»
$58e K Ko oHdEn b ?

1) g% 2) 56
3) 568 S HBBen  3) ASBes BB



186) &8 8 et X, Y & mer wotrth “G > $9m0
Bo@rd 38 HErg” PPt (88 X' D ?
1) & 2) 5%
3) Shidentod 4) dBomosBEw

187)Swihtd Sgen A, B%8ssx C éﬁsé’s Qepyds. AH BH
g 5 ood, BH CH &g 8 ood Sghen St C
EoB Swoth 3 Hod, A ZoB I 21 Hod Jgen Hod,
‘§J°§’56 I FHe ég)?g dogyg o0& ?
1) 41 2) 40
3) 28 4) 27

188) ©n& 0k HnE Show. Sm wE Zod X S
é‘seg@éo@ B = JBP Kol 2EB. 2nE e%segé’é o8
DHTL. o8O’ 1Y %L ?
1) o0& 2) &8
3) b= 4) ;8

189) a8 VS G Trenidh J0 Fren Bod LS Ao
S, Ko, 38 wPlogpomE HHONE ?

SNl

0] (i) (iii) (iv)
16 2)4 3)3 4) 2
190) Sorfart, devden, (oo (§od & QFn Sreddoed ?

& 009 ©.

191) 1) 16
3)9

2) 13
4)7

192) 2.8 S858° 3/5 Lod rDEen, MifTe WoBsrE wrends.
P58’ 2/9 Lod, el 1/4 H0d P %08
S R Su‘gégeés BN i o ?

1) 2) 3) 4)

193) O ToF 9 T o] N
A -
|A‘j B _C_ Dv 1 20\ \4 as

FHXD)| 2
A B [
195) 2, 3, 6, 15, 45, ?
1) 147.5 2) 150 3) 157.5 4) 155
196)2, 1, 4, 4, 5, 6, 7, 8, 8, 10, 11, (?)
1) 12 2) 11 3) 10 4)9

B

194)

it

5

197)

1) 2) 3) 4)

198)A, B, D, GK, 2,V
NQ 2P 3)R 4T

199)e.8 S5 (HSsn PROBLEM % MPERLOB
b, o8 & NUMBERS &% oo (7odrs.

1) SNUREMB 2) SNRUBME
3) SNRUEMB 4) SNRUMED
200) 1984 o525 31 & 8o wHod ?
1) Sorgaredo 2) Hdaedo
3) HEaBo 4) andaredo
BB CD
#6'1118



1) 4
7) 4
13) 1
19) 3
25) 3
21) 4
27) 3
43) 1
49) 2
55) 4
61) 1
67) 2
73) 1
79) 3
85) 4
91) 2
97) 3
103) 1
109) 2
115) 2
121) 3
127) 2
133) 1
139) 5
145) 1
151) 2
157) 3
163) 3
169) 1

2)3
8) 4
14) 3
20) 2
26) 2
22) 3
28) 4
44) 3
50) 1
56) 3
62) 2
68) 3
74) 2
80) 2
86) 1
92) 4
98) 4
104) 2
110) 1
116) 2
122) 3
128) 2
134) 2
140) 5
146) 3
152) 2
158) 4
164) 2
170) 1

175) 4 176) 4

181) 1
187) 3
193) 4

182) 4
188) 2
194) 5

199) 3 200) 4

3)4
9)3
15) 3
21)3
27)3
23) 2
29) 3
45) 1
51) 1
57) 3
63) 2
69) 3
75) 3
81) 1
87) 1
93) 1
99) 4
105) 3
111) 3
117) 4
123) 2
129) 3
135) 3
141) 1
147) 3
153) 4
159) 1
165) 4
171) 4
177) 4
183) 2
189) 2
195) 3

2330°200
4) 2
10) 2
16) 4
22) 2
28) 2
24) 1
30) 2
46) 1
52) 1
58) 2
64) 1
70) 4
76) 2
82) 1
88) 2
94) 2
100) 1
106) 1
112) 2
118) 2
124) 4
130) 1
136) 4
142) 2
148) 2
154) 2
160) 2
166) 2
172) 4
178) 2
184) 1
190) 3
196) 3

5) 3
11) 3
17) 1
23) 2
29) 4
25) 3
41) 4
47) 1
53) 1
59) 3
65) 1
71) 3
77) 3
83) 3
89) 2
95) 3

101) 4
107) 3
113) 2
119) 3
125) 1
131) 2
137) 4
143) 4
149) 4
155) 3
161) 1
167) 2
173) 1
179) 4
185) 1
191) 1
197) 2

6) 2
12) 3
18) 4
24) 3
30) 4
26) 3
42) 1
48) 1
54) 1
60) 4
66) 2
72) 2
78) 3
84) 4
90) 2
96) 1

102) 1
108) 2
114) 1
120) 1
126) 4
132) 3
138) 2
144) 3
150) 3
156) 2
162) 3
168) 2
174) 4
180) 2
186) 2
192) 3
198) 2

QSBeaen

_ 55 x 50 + 60 x 55 + 45 x 60
131) Required average = 55 + 60 + 45

~ ( 2450 + 3300 + 2700y 8750
= 160 ]~ 160

= 54.68.

_ 50.25x 16 +45.15x 8
132) Required average = 16 +8

_ ( 804 +361.20 ): 1165.20
24 24

= 48.55.
133)Total quantity of petrol consumed in 3 years

_ (4000 = 4000 . 4000 )
=\750 * “8 * 850 Jlires

2 1 2 ) .
= 4000 (— + —— +-_<_Jlitres
15 8 17

Total amount spent = Rs. (3 x 4000) = Rs. 12000.

QDoed (drséw)

R i 12000 x 51 \ _ 6120
.. Avarage cost = Rs. (—76700 =Rs. =67
=Rs. 7.98.
3y +3z
134)Clearly, we have : x = (—GL) or2x=y+z.

135)Let the average expenditure be Rs. x. Then.
9x =8 x30 + (x+ 20) or 9x = x + 260 or 8x = 260 or
x = 32.50.
«» Total money spent = 9x = Rs. (9 x 32.50)
= Rs. 292.50.
136)6653@@(;@0%&30 X; a.88 ﬁgmoém y 50808, Dogy
= 10x+y.
®080 OIS By $5) Sogg = 10X+ V.
Jo (10X +y)+ (10y+ X) = L (x+ ), 20 11. KHdesdo
11 zeAn0d.
137)BOFTTOBED X ; 2By OB y 50808,
(A0x+y)=9
x=1
e BE0dw o), ye:o:é:»%sgﬁgzéw .
Jo Smpodsm Ko (inadequate).
138)5toe PT0BHD X ; w8y FrPosHD Y ©9:508°08,
(10x+y)-(10y+ X) =36 <9(Xx-y) =3B ex-y=4
139)Let Rahul's age be x years. Then, Sachin's age

< (x-7) years.
:o xX-7
X

7
=79 © OX-63=7x< 2Xx=63
< X=315

Hence, Sachin's age = (x - 7) = 24.5 years.



140)Let P's age and Q's age be 6x years and 7x years
respectively.
Then, 7x-6x=4 < x=4
.. Required ratio = (6x + 4) : (7x+4) =28 : 32
=7:8.
141)Let the present ages of P and Q be 5x years and 7x
years respectively.
Then, 7x- (5x+6) =2 ©2x=8 © x=4.

~«Required sum = 5x + 7x = 12x = 48 years.
142)Let the present ages of Arun and Deepak be 4x years

and 3x years respectively.
Then,
I+ 6 =26 «4x=20 « x=5.

.. Deepak's age = 3x = 15 years.
143)Let (17)%° x (17)*= 178 Then, (17)*5 + x = (17)8.
0’03.5+X:8©X:(8'3.5) s X=4.5.
144) Let the number of valid votes be x.

Then. 52%0fx—48%ofx=98 < 4% of x =98

1OOX 98 « x=098x25=2450.

145) 3ngo &8 Sogg = X @S0,
DPoand &ty = 90% of x.
DS &én = 90% of (90% of X).
'« 54% of [90% of x)] - 46% of [90% of (90% of x)]
= 1620

< 8% of [90% of (90% of X)] = 1620

8 9 90

© 700 X 100 X100 X X~ 1620
1620x100x100x100

ex={ 8x90x90 } = 25000.

146) &.60% @g’é &) Eéé@@ Qo X. 0P8,
18, 21 Kdon aﬁaéééo‘éazéa &) @gpa = 8% of x.

18, 21, Xon 0555 SeDes® LenaddaE
= 85% of (8% of x)
(W 1006 xx) = 1000 x
& eenBahd =6 = (700 X Xx 100)% = 6.8%
147) &éndd @gbéé &) 56?3@@ Qogy = 9808,
A £.e0305 &8 = 30% of x.
B &e0308 8608 = 60% of (70% of X)
=( 60 x 70 _x100 )% of x=42% of x.
100 ~ 100
£,t0R0HA &% = [100 - (30 + 42)]% of x = 28% of x.
o« 30% of x - 28% of x = 1200 < 2% of x = 1200

X = (M) = 60000.

148) &0 Y 8 Yo IwESw Rs. 2. @0 o8,
z + 120% of z = 550
z+120 7 =550 « 11 7 =550
100 5
@Z_( 550x5 ) 250,
149) 2 &es oranges C.P. = Rs. (10 +8) = Rs. 18.
2 Sy oranges S.P. = Rs. 22.
ergfo Rs. 4 wond, §°) oranges = 2 e
orgfo Rs. 120 wowd, §°%) oranges = (%xlzo)

= 60 Sy
150)6 toffees C.P. = Re. 1; 6 toffees S.P. = 120% of Re. 1
-Rs. 8
=Rs. 5 -
Rs. 6 6 & o toffees = 6. Re. 1 & o3 toffees
= (6 x 5) 5.

151)12 toffees S.P = Rs. x @08%08, @p 80 : 1 - 120

120
X Boe X = ( %

Rs. 3 & oy toffees = 12. Re. 1 & @8))&:6 toffees
? = (12 x_) 8.
152)56 kg dcigo C.P = Rs (26 x 20 + 30 x 36)
= Rs. (520 + 1080) = Rs. 1600.
56 kg Hanso S.P = Rs (56 x 30) = Rs. 1680.
Sergo = (% X 100)% = 5%.
153) 50 kg fésoe C.P = Rs (30 x 11.50 + 20 x 14.25)
= Rs. (345 + 285) = Rs. 630.
50 kg fve S.P = 130% of Rs. 630 = Rs.x 630

= Rs. 819.
kg8 sp=Rs(52-)=Rs. 1638
= Rs. 16.30.
154) o508 §8 1kg & Rs.xe08%08, (26 x 20 + 30 x

36)
60 kg Daigo C.P=Rs (30 x 17.50 + 30 X X)

= Rs. (525 + 30X).
-, 1116 - (525 + 30x _ 591 - 30X _ 1
525 + 30X x 100 =20« 525 +30x 5

« 2955 - 150x = 525 + 30x <180x = 2430
2430 _( 27 ) i
=(-5-) = 13.50.

<x= (T80
< o 880 Aasgo C.P = Rs.13.50 per kg.

155)Suppose he bought 2 kg. 4 kg and 3 kg of the three
varieties.
C.P.of 9kg = Rs. (2 x 50 + 4 x 20 + 3 x 30)
= Rs. 270.
S.P. of 9 kg = kg = Rs. (9 x 33) = Rs. 297.

. 27
< Profit % = (579 x 100 )% = 10%.



156) &1IcHH0VEE X 9K0E°08s,

5-x_16 o 51(6-0<16(7-%) ©5x>14

7-x21
< X > 2.8.

5895 Fegoeg = 3.
7

157)C &* morvdo = (T +—) units —% units

C & =58 = (— +—) units —%umts

. eevE o .5 .
..330770650.3'%95—(3 '6 =7:5.
15

158)75 = 0.466. >a

o = 0.652 =0.68 and ——0724.

'E
HBE® 0.724 KogSw. 2211 29 KB

159)B et = 6. 3 e&od, Imdo iy = &r. 7.
B aver . 4800, Bndo & = Rs. (%x 4800 )

= Rs. 11200.
160)C 8 $)06 . X @08

B & $O)%0 & (x+8) HoBoko A8 SQE6 (x + 15),

QP X+ (X + 8) + (x+ 15) =53 «x = 10.

S A:B:C=(10+15):(10+8):10=25 : 18 10.

161) A:B:C=10x7:12x5:15X3=70:60:45
=14:12:09.
~ C'srent = Rs. (175 x 3—95) = Rs. 45.
162) A:B:C=3:2> B:A=2:3=4:6andA:C
=2:1=6:3.
So,B:A:C=4:6:30rA:B:C=6:4:3.
- B's share = Rs. (157300 x 1i3) = Rs. 48400.

163) Let the initial investments of A and B be 3x and 5x.

A:B:C=(3x+12):(5xx12): (5xx 6)
=36:60:30=6:10:5.

164)Ratio of initial investments = pi iy 6:4:3.

Let their initial investments be 26x, gx zfnd 3x respec-
tively.
A:B:C=(6Bxx2+3xx10): (4xx12):(3xx 12)
=42:48:36=7:8:6.
B's share = Rs. (378 x %) = Rs. 144.

165)Ratioof initial investments = ; g %:105 :40: 36

Let their initial investments be 105x, 40x and 36x

SA:B:C=(105xx 4 + 188 X 105x X 8) : (40x x 12)
1 (36xx12)
= 1680x : 480x : 432x=35:10:9.
Hence, B's share = Rs. (21600 X = 10
= Rs. 4000.

166)UNIVERSAL & $55m6%) efmodh $5ire Eiros®

R e

A E | S U
1 2 34 5 6 7 8
sHedd 8 = (L+N+R+S+V)-(A+E
(4+5+6+7+9)-(1+2+3+8)
=31-14=

167) |617[8]9] 4| $6050 | L]12]3
HID|F|C|K R|S|N|L

FCNHR = 89361
168) (ZXx2) =26x2=52
%80 (A+C+T)x2=(1+3+20)x2=48
(B+A+T)x2=(2+1+20)x2=46.
69 H ANGER=TDI MCG

[T

Hence KURESH = JRGQWJ
(i) go for morning walk = $%k 2#

(i) good for hedth = £2@
(iii) good towalk fast = +@ 1 #
From (i) and (ii) for  ?
From (ii) and (iii) good =~ @
hedth £.
171) ro S0t Bens), ©sPaEd)) Bend) TN, EhE, WD

SES0.
172) 2089 ‘G508’ O ScirSHBSegT, 88) ‘Bemy Bk,

172) As A C Similaly E G
+EG’ z X Vv

+1+V) =

(&)

170)

o
B D F H
Y N U S
174) sz @) grndthe DEIHII.
175) FE H | JILM HGIK
I T | T | | I |
143 +1 143 +1 14242
176) oifz® o) KoF°Y soeen =8 144 BorY Fne0 S,
177) 2 15 41 80
AN AN

+13 +26 +39 +52
179 Z U Q N L
5 -4 -3 -2
179) defg | efgh | fghi | g
180) The middle number of 1ll row = sum of the numbers
of 11 row.
181) 234 534 524, 523, 523, 423453 452 551 545 54
SRS wden 453, 453, 225 KB 455
182)C+AxB2D2=8+16x9%3
8+16x3
=8 +48
=56
183) seedd rdsn = AE

J(90-30)? +(100 - 20)°



= /(60)% +(80)% = /3600 +6400
= /10000 = 100 Mt.

E
AN
100 . B
A 90%. |G
WV 20 8.4
<
D 3088  C
184)
15 &».
A Dr—————E
25 gb /\ 25 gl')
20 .
B C
HODS Srdsn = AE = 20 + 15 = 30 &

ErEnBErr
185) 89 @), Bt @B HSSTD B3 S8 Tws) hidend
DL @08 SHS L@ B8, Vo SHS @)
e,)vtﬁ?g.
186) ‘X' ®w¥) $Y ¥ Hol& FwE) JBE B8 el ‘X
@) 89. ‘X PP & ), Feo.

187)
A ©
1) 2

8 3 1
éw?gé's S&n B Koy
=15+1+5+1+2+1+3=28
188) &%8 > w8 = s > bz > J6H
189) (i), (iii) Sdco (IV) Dgre o &HIHD KoLK
D™ 2, 6,1 5, 3% o Hoerow. EHE 4, 3
80P Hotnod.
190) Hosaedd, denden Bodkw 38563 =0 19 Bo (&Peasion)
EHen.
191) LJoendre a8 gD (Bdheren 6
AGE, EGC, GFC, BGF, DGB, A
and ADG
Bok grrre (@geren 3
AGC, BGC, and ABG
Lot grrre (Sgheren 6 B FC
AFC, BEC, BDC, ABF, ABE and DAC
o grrreare Ko (Bheso 1 (ABC)
oo (Bheren 6+3+6+1 = 16

15+

192) e@®8en = , ePendd =
SBes =00 g)w’?gége) VI atVV)

= & &
B8,

O Bes8onsd o080 grridm =

B |

193)(58 54 Dgrpoddne e 26265&%6’5 90° Brene0d.
BgRES® BB GBS0 Lo B5o&0d. Ky
B3B50IS BHEE DI Sorodr wdiHSos. &SI

E0N0B0EH08.
194) s DG (Main figure) @) 2ah® s wozeen

B5086° 45" Swbenseow.
2x1.5=3
3X2=6
6x2.5=15
15x3=45
45%x3.5=157.5

= 157.5 a3zrew
196)2,1,2,4,4,5,6,7,8,8,10,11, ?

13 2 4 6 8 7
1 JL JL 11 J

.2 +2 +2

195)

7 10

IL. 1 4
| SIS j USRS | S|
+3 +3 +3

1. 2 5 8 11
ISR ) ENCI | S—

8+2=10 e3z°aw

A"B"C"D A=12,1+2=3,B=22,4+2=6

376 11718 C=3,9+2=11,D=4,16+2=18

A, B, D, G K, P,V
\-/\_A_/\.,/\JU

+1 +2 +3 +4 +5 46

197)

198)

-
2

7 6
M E

=
o &
— wn
z

T —
el O]
— W
oS
o+



